TM 55-2210-224-24P

SECTION I

R e
AN pmmmm
Y

——

-

| 1 N,

N

4834-002

Figure 2. Handrails.



SECTION I TM 55-2210-224-24P

(1) ) (3) (4) (5)

ITEM PART
NO. FSCM NUMBER DESCRIPTION AND USABLE ON CODE QTY
GROUP 01 BODY GROUP
FIG. 2|HANDRAILS
1 96906 MS519681-24 NUT, HEX 3/4 - 10 UNC 4
2 96906 MS35338-51 WASHER, LOCK 3/4 IN 4
3 96906 MS90725-191 SCREW, HEX 3/4 IN X 3 IN (NSN 5305-00-947-4354) 4
4 96906 MS90725-158 SCREW, HEX 5/8 X 1 IN, NC
(NSN 5305-00-724-72130
5 96906 MS35338-50 WASHER, LOCK 5/8 IN 66
6
HANDRAIL, FRONT AND REAR 2
8 96906 MS51967-33 NUT, HEX 1/18 IN -7 UNC 4
9 96906 MS35338-55 WASHER, LOCK 1 1/8 4
10 96906 MS90725-103 SCREW, HEX 1 1/8 IN X2 1/2 IN - 7 UNC 11
96906 MS90725-252 SCREW, HEX, 5/8 X 1 3/4 UNC 36
12 HANDRAIL, LEFT FRONT/RIGHT REAR 2
12 HANDRAIL, RIGHT FRONT/LEFT REAR 2

END OF FIGURE

2-1



